—— A
N = 0] &F AF S & AN A
20149 = 20l A LB H L IIEIEE S H S EX &Y
2N 2EHEAD
HE: ANZER A2
Sl AFER 245 CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
=5 & A 2,973,713 4,556,715 A 1,583,002
= 9,754
Al 2,963,959
ANEEE G235 924,070 1,036,420 A 112,350
ANEEE 43 336,520 380,900 N 44,380
AZ20H E2==2 336,520 380,900 N 44,380
201 et d9d| 327,800 360,000 A 32,200
01 AF 2t 2| H| 315,000 346,200 A 31,200
OANEBEE AMEQG S 1,000,000 x12& 12,000
OdHMDILE EE 60,000,000 60,000
OANE AHE EE 180,000, 000& 180,000
O, ClHUANESES EE 40,000,000 40,000
Q#BT N R (EEXR) 5,000,000& 5,000
OATJEE NNERs2 1,500,000 x12& 18,000
02 232%H4| 12,800 13,800 A 1,000
OBEXE A TZ)dH AIE=
650,000 x12& 7,800
OXES XHl(20h) 5,000,000& 5,000
202 044l 2,880 3,600 ANT20
01 2Ll 2,880 3,600 ANT20
OBEXE ¥ AAX XNExd S
1,440,000 1,440
OEEEUAI 282 =& 1,440,000 1,440
203 R F & 5,840 7,300 AN 1,460
03 AIZH =X 2 F X Y| 5,840 7,300 N 1,460
OB XA AIHZ=RAR2FXHl 5,840,000 5,840
Ctst S EAA=E 22l & A= HE 587,550 655,520 ANB7,970
ANEBESE AES22 6,800 9,200 A 2,400
201 2Et2A Y| 6,800 9,200 N 2,400
01 AP 22| d| 6,800 9,200 A 2,400
OJtiiet =2l & 57 1,200,000& 1,200
OANEZEE HAIE X 22 700,000& #4004 &~ 2,800
OFUW % 3oa SSAIE A2l
2,800,000 2,800
CHSH OHME AIEER 580,750 646,320 AN B65,570
201 B9 558,750 433,900 124,850
01 AP 22| H| 552,750 426,700 126,050
Ofelgu &t &4H 170,000,000 170,000
OCBHUErSAIY HMOHEIF MAIS
70,000& *»10¥ 700




SN B
A

B ANHER AU
Sol: CHYE ERAIMS 22l U NSHE (el @2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
ONBEEANZZA JA+E
70,000& x5 *33] 1,050
o994, HE=Z 0/|0I1X 8 ¢
500,000 x12& 6,000
o220 &2 AMNEzEE 80,000,000 80,000
OANZE=EES OHH HZ 150,000, 000& 150,000
OLI&s M &2 AdER 135,000,000 135,000
OEEUAIE &28 NEEE 10,000, 000& 10,000
02 2=2=24%H| 6,000 7,200 A 1,200
OsSFaMNg 2udSs2 500,000 x12& 6,000
301 et A= 22,000 12,420 9,580
11 J|EtE A2 22,000 12,000 10,000
OANAEEE ZHXH(EUHIIA, AAMI &) E&2
1,000,000 x12& 12,000
OANEEE ME 228 BA2 10,000,000& 10,000
=0IXX B30 et 23t 2,000,643 3,468,095 N 1,467,452
= 9,754
Al 1,990,889
SEHXZAIY A2 34,852 40,720 A5,868
AHEH SE XA 34,852 35,543 A 691
101 e1214| 7,776 7,828 ANB2
04 JI2tHIZ22XNEES 7,776 7,828 AB2
OAFSE HI 2= AF 7,776
- A2t el X+ 48,190 x3% »27 3,904
-2 o YA 43,9503 x3H x24 3,165
-A2XN=22S 7,067,790 *10% 707
201 2Et2A Y| 26,356 26,815 AN 459
01 AP 22| d| 26,356 26,815 AN 459
OAMNSEHEZAIE = 46,0003 x11H x26 13,156
OMYMEAL EE28L0 S M
60,000 *20H 1,200
OJI2sSHHAE H 2 12,000,000 12,000
202 04| 720 900 A 180
01 2Ll 720 900 A 180
OsHgR2FA 720,000 720
HESA 223 220,160 260,700 AN 40,540
HESA Lotae 220,160 260,700 N 40,540
201 2Et24Hy| 218,000 258,000 A 40,000
01 AP 22| d| 18,000 18,000 0
OANE=EELE0 A 2dE S 8,000,000 8,000
OANE=EE220| Ol0IX M 10,000,000 10,000
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2N
X ZH -
L= B

el

02 44 0

2D
DIRIX LSO L5
2NEER 2=

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
HdEDNEEZE 2= 810,900 848,000 A 37,100
g E CCTV = 440,200 0 440,200
201 Bt A | 239,200 0 239,200
01 AFR 22l ] 5,000 0 5,000
OCCTV 2258 2 5,000,000& 5,000
02 332494l 234,200 0 234,200
Ogte = CCTV KA E22H('osE~"114)
35,000,000& 35,000
OCCTV &JIR=2 43,200,000 43,200
OCCTV 883N 2= 156,000, 000& 156,000
401 Al HI L £ 0HHI 201,000 0 201,000
01 A& HI 200,000 0 200,000
ogdZ CCTV =+ 200,000,000& 200,000
03 A& 20HH| 1,000 0 1,000
ogdEZ CCTV 25 1,000,000& 1,000
CCTV S E§2HAH 29 370,700 0 370,700
201 et A H| 369,200 0 369,200
01 AFR2 22l Yl 2,000 0 2,000
OSe2MAdE 24d9H| 2,000,000& 2,000
02 33249l 367,200 0 367,200
OSEHNMEEH 2LIHY 849
2,300,000 x12H x12& 331,200
OESSZHAE 2223(H)] € S84 5)
36,000,000 36,000
202 04| 1,500 0 1,500
01 2LHOHI 1,500 0 1,500
OSEHMHEEH RF& 1,500,000 1,500
SHEAMYE 223 476,981 644,075 AN 167,094
= 9,754
Al 467,227
HE3 29 Btz 59,480 56,640 2,840
201 LEt2 A Y| 58,040 54,840 3,200
01 At 22l Yl 2,000 3,000 A 1,000
O32&d FEXAQC sl Mzas 2,000,000 2,000
02 =294l 56,040 51,840 4,200
OPC,Z2lH SANEs 1,500,000& = 12& 18,000
OHIILRANHYH RANE=> 1,500,000& x12& 18,000
OSEHIANEH RAE= 1,670,000& x12& 20,040
202 04| 1,440 1,800 A 360
01 2LHOHI 1,440 1,800 A 360




A - -G (3A) - A - BES Off &t 24 %Ei Hns2
Oz gR=ad 1,440,000& 1,440
HIOIX StEE 29 35,084 34,880 204
201 LEt2A | 15,084 13,380 1,704
02 32224l 15,084 13,380 1,704
OZHOIXl HEE XHEt |2
190,000& »12& 2,280
OZMHOIX AHAS MHIA =S
160,000& »12& 1,920
OAE 22l XA =X 2= 165,000& «12& 1,980
OFTAANE RXNE=S 410,000& 122 4,920
OZMHOIX B4 RAL+ 235,000& 12 2,820
OFAH#ZZ2OY KRS+ 194,000& 62 1,164
207 & 51 OH & Hl 20,000 20,000 0
02 & &HJH 2| 20,000 20,000 0
OSHOoIXl HH 20,000,000& 20,000
SUFEANLEH 29 56,000 171,520 A 115,520
201 LEt2A | 56,000 61,520 25,520
02 32224l 56,000 61,520 25,520
O3AHEENMAH SANE+ 4,200,000 122 50,400
OREHEEZZINY RANES 800,000& »7& 5,600
IZRAISEE2ANLEY 29 82,020 77,020 5,000
201 fEt2E | 12,720 12,720 0
02 2324l 12,720 12,720 0
OMSHEEZEANAYE RAEFS
1,060,000& 122 12,720
403 A X EHHS =0l A 69,300 64,300 5,000
02 I 2SO0l CH &t CH & A& I 69,300 64,300 5,000
OHFEE MuFH RN 69,300,000 69,300
M RRE = 10,000 10,000 0
201 fEt2E | 10,000 10,000 0
02 3224l 10,000 10,000 0
OdiA RXNExF S 10,000,000 10,000
2|8t 257 113,000 157,000 244,000
201 LEt2A | 33,000 41,000 28,000
01 At 22l 8l 33,000 41,000 8,000
OngHEUS 2237 33,000,000& 33,000
207 & 51 OH & H| 80,000 80,000 0
02 & &HH 2 80,000 80,000 0
O#MEFMWIIX S/W=L(GA 80,000,000 80,000




AN SEXAD
g FOXX H=23s018 235t
ool BHFE SIS CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AMOIEES WS 17,600 19,000 A 1,400
201 24l 5,600 7,000 A1,400
01 At 2t 2l 5,600 7,000 A 1,400
OANZESFIEE A2l & 5,600,000 5,600
301 et a = 12,000 12,000 0
MIIEBE4d3 12,000 12,000 0
OANIZESNE ZA=Z 50,000& »240 12,000
dEES & Borzel st 46,240 41,440 4,800
201 Let249] 20,640 15,840 4,800
02 =24l 20,640 15,840 4,800
oggsts |RAE = 300,000& = 12& 3,600
ONHEHHAH |RXNE= 120,000& =123 1,440
OXJIAUHM Z2et2eldA RANE >
400,000& x12& 4,800
ONEEES Z2MH RANE =+
500,000 »12& 6,000
OBEZMAH |FXE= 400,000& x12& 4,800
207 A O H] 25,600 ,600
02 & AR I 25,600 ,600
Oottoleia sg2el 2218 7¢
23,500,000& 23,500
OJNECHZYX T2y RAES
700, 000& *3CH 2,100
U-XI S L35t 280 560
201 Let24d] 280 560
01 At 22l 280 560
OXNSEEsRE S A&+
70,0003 *4H » 12| 280
ANZF? T =S2HH AMSHPLE 25 16,836 ,280
308 MtXIEHSOIH 16,836 ,280
05 AXSHHLESES 16,836 ,280
OAZ7 HoHER2HMAH AZTHIHEH 2SS A
[SEay=4 10, 137,000 10,137
OAZF Moll=S2HAH AZHBEH 2SA
#ANE+= 6,699,000 6,699
ANZT HEIBALE Wl S2HAH 2= 15,601 ,672
2 3,544
Al 12,057
201 Let2d ] 15,601 ,672
2 3,544
Al 12,057
01 At 22l 15,601 ,672




- _ _ RE]
CEE B (BH) - HBRAY - BAS %Eﬁ HR=2
OANZF MHHlSZ2HMH SAE Az
15,601,000 15,601
2 3,544
Al 12,057
AR 2ED|8 =S &Y WAl 24,840 0 24,840
= 6,210
Al 18,630
et A 24,840 0 24,840
= 6,210
Al 18,630
==2=294| 24,840 0 24,840
OAlzZ+ SSJI18t == &Hl wH
24,840,000 24,840
= 6,210
Al 18,630
I3 =E 144,000 180,000 A 36,000
2E R 25FS 144,000 180,000 A 36,000
405 XHA&HF S HI 144,000 180,000 A 36,000
AL 2 F F SH| 144,000 180,000 A 36,000
OHUZHEHIM P L 1,000,000 x120CH 120,000
OLCDELIH W M 2 400,000 *24CH 9,600
QU NEZZH(WEKIA )M T
600,000 x24CH 14,400
o H (22 & A1) 49,000 52,200 N 3,200
(B2 & A 49,000 52,200 A 3,200
H(Z2 & At 49,000 52,200 A 3,200
B2 A Y| 11,080 13,860 AN2,780
01 AP 2t 2] d| 11,080 13,860 A2,780
OBASY AR 22l 11,080,000& 11,080
202 044 34,560 34,560 0
=LH 04 4 34,560 34,560 0
OJl2gde24sioidl (18Y) 34,560,000 34,560
AR =AY 3,360 3,780 AN420
EASHE 28| 3,360 3,780 AN420
OBAN2HEA2=XHI(302 0lat)
280,000 x12& 3,360




